


a��The mission was successfully accomplished by the expedition.                                               
b�The expedition................................................................................................................................. 

3.� Classify the following words according to the pronunciation of the final /s/ :     (3pts) 
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��orbits.        6-bodies.


/s/ /z/ /iz/ 
   

 
 




Part Two: WRITTEN EXPRESSION                                                                              (5 pts) 
 

�� Suppose an asteroid collided with the earth .write a short paragraph in which you predict the 

consequences of such a collision using the following notes:  
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�consequences on human kind. (extinction). 

�Conclusion. 
 

      (5 pts) (5 pts) mmou predict the edict the 
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